3HauyeHue noka3aTens

HaumeHoBaHue

nokasarens c ®KC I'M- c ®KC I'M-
7BK (A2B2E2K2SX(pekaH | 7Kb (A1B1E1K1SX(nekaH)
)HgP3D HgP3D)

KoadgppmumeHT
nogcoca no
MacnsHomy TymaHy
(MT), %, He Bonee

He 6onee 0,0001 % He 6onee 0,0001 %

KoadhpmuymeHT
NPOHMLIAEMOCTH
®KC no MT, %, He
bonee

He 6onee 0,0001 % He 6onee 0,0001 %

Copepxanune
avokcuaa yrnepoga
BO BAblXaeMoOM
BO3ayxe

meHee 1,0 meHee 1,0

Ha4vanbHoe
COMpOTUBNEHMNE
npoTMBOrasa Bo3ay
LLIHOMY MOTOKY Npw
pacxoge so3gyxa 30
ame./MuH

He 6onee 260 Na He 6onee 220 Ma

Macca
5 | npoTtuBorasos (B He 6onee 1100 rpamm He 6onee 1100 rpamm
cbope, 6e3 cymkm)

Mnowaab nonsa
3peHus

He meHee 70 % He meHee 70 %

TemnepaTtypHbIn
7 | AvanasoH oT -40 go +40 °C oT -40 pno +40 °C
NCNoNb30BaHUSA

[[apaHTUNHLIN CPOK

He meHee 12,5 net He MeHee 12,5 net
XpaHeHUs



Bpewmsa 3awmTtHOro gencreusa ®KC npu Bo3aenNCTBYHOLUX KOHLIEHTpaLUsaX

(Co) BewecTB(Mr/amM°), MUHYT, HEe MeHee:

- MO XJ'IOpLI,VIaHy 40 (C0:510) 25 (Co:5,0)

- N0 AeKaHy ~ )
(aHanor ®OB) 1600 (C0=0,09) 1600 (Co=0,05)

- o ~ )
LaHoBoaopoay 30 (Co=5,0) 25 (Co=5,0)

- no ~ )
LMKIorekcaHy 35 (Co=17,5) 70 (Co=3,5)

- MO Xrnopy 20 (Co=15,0) 20 (Co=3,0)

- no ~ )
cepoBogopoay 40 (Co=7,1) 40 (Co=1,4)

- Mo Avokcuay

cepbl 20 (Co=13,3) 20 (Co=2,7)

- N0 aMMmaKky 40 (Co=3,5) 50 (Co=0,7)

- M0 M300yTaHy 20 (Co=6,0) 15 (Co=6,0)

- no
ANMETUNOBOMY 20 (Co=0,95) 15 (Co=0,95)
a¢pnpy

- 110 Napam pTyTh 6000 (Co=13,0) 6000 (Co=13,0)

(mr/m ky6.)



